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No. 10 14 17 20 21 &&F #HIE
E F A WTF WTF WTF WTF WTF NE sz
3 WA M5B Fokk k ok dokk okk kkk 13 O P
9 % — X% k% kkk kkk Rk 12 13 P
14 #R AKX % k Rk k ok kkk ek 12 13 P
16 ¥ —=% sk kokk kkk ok ok 11 22 P
22 EH  @#4 * ok sfokok sk k10 25 P
28 WH & sk fokok kkk fokk kkk 15 1 P
30 fAIER  8A xkk Rk Rk kkk kk 12 13 P
31 W FE x kk  k*xxxx 8 30
38 g5 K HEBH sk Kk kkk kkk kkk 14 T P
41 g B2 * ok ok bk xx 7 33
43 INEFEF EHIK frk okkok okkk kkk kkx 15 1 P
53 Bkt M skk kokk kkk dokk kkk 15 1 P
b5 % B ¥  kk okkk dkk kkk |1 22 P
62 AEr R dokk ok Kk * *+x 8 30
66 Lk EXx )kok kokok Rk kkk kkk 15 1 P
67 & ZHB *x % kkk kkk k k10 25 P
80 &\ Eth *hk kokk Kk ok 9 28
83 AH =4F skkk skkk  kk kkk k k13 QP
84 k;E HE—ER sokk kkk kkk kkk kkk 15 1 P
86 O FH=EF %ok Rk dokk ok ek 12 13 P
87 A =F0if ®kk kkk Rk kkk kkx 14 T P
98 Wil [EEX *  ckk ok ok ok k% 8 30
99 &Il Fkk ®kk Kk Kk dkk Rk kkk 13 O P
114 #%% = ®hk k ok Rk ok x 0 28
115 W = sokk kk  kk skk kkk 12 13 P
118 AR F—ER *x  klok kkk Rk kkk 12 13 P
121 &5 BBt sokk kkk kkk k ok k12 13 P
128 AR X Jokk Rk kkk kkk dkx 15 1 P
132 8H RB& xk kkk Rk kk ek 12 13 P
137 £ El& x %k ok ok k kxx x x 10 25 P
145 55  fE— Jokk ok dokk dkk bk 12 13 P
151 KA &8l *kk ok k ok k ok kkx 11 22 P
152 =% F kk kkk kk  kkk kkk 13 9 P
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No. 10 14 17 20 21 &&F #IFE
E F A WTF WTF WTF WTF WTF IR sz
3 WA B k ok ok ok * %% 1 8P
9 BH fE— *ok *xxx k% %% 10 5P
14 FR AX xRk Kk Kk Rk 7 8P
16 #f#t —X *k ok ok kkk 7 8P
22 TH# A * % 2 26
28 EH &C ok ok k% x 6 11P
30 PaI&R  5A k% ** 4 22
38 gk HREA * % 3 24
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43 INEFF  EHK *k ok ok bk 6 11 P
53 Eaft Gf(— sokk kkk kkk kk kkk 14 1 P
55 #Hl B x ok ok *ok 5 17
66 £k EX sk kkk ok kkk kk 11 4 P
67 & BB * * xkk *x 6 11 P
83 AH =nfA * * 2 26
84 k;E HE—ER s,k dokk kkk kkk kkk 14 1 P
86 Bk #H=ER * % % * x %%« 8 TP
87 K = i Hokok #xx  x kkk 10 5 P
99 &Il Flkk * *xx 3 24
115 ¥R = % kk Kk kk 6 11 P
118 A F—ER * ok sokk %k 6 11P
121 && 1 Xk kkk 5 17
128 AR sk kkk Kk K dkk kkx 13 3 P
132 8@ B& *k ok *x x5 17
137 &% EJL * * ok okk 5 17
145 & #— % fokk 4 929
151 XHE #&A| Kokok Kok 5 17
152 2 & * sokok >« 6 11P
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No. 10 14 17 20 21 €& #HIE
E F 4 WTF WTF WTF WTF WTF [[=Eiv
IR UN ME * ok 2 10
9 &H B— $okk sfokk ok 7 5P
14 #R AX * 1 14
16 ##¢t —% * * 2 10
28 MH &\ 0 16
43 INEFF  EHMK * ok kR bk 7 5P
53 Eadt = sokk kkk kkk skokk kkk 15 1 P
66 £k Ekx sokk ok skk *kkk 10 3 P
67 & ZEB * 1 14
84 kx;E ZHE—ER % % %k ok kkk kkk kkk 13 2 P
86 kO I{H=ER * ok Kk xkx ] G5 P
87 K Z=Fnif sokk ok $k 7 5P
115 KN =i * xkk % 5 0
118 AR F—EBR * % 2 10
128 AR &K ¥ kkx ok %k kk O 4P
152 =& & * * 2 10
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g8 H Waltz
9 &HF f2— 5 8 3 4 8 5.0
43 INEFF  EHX 3 7 2 7 6 6.0
53 Eaft = 2 2 41 2 20
66 ‘ffﬂ% IEPS 6 4 8 3 3 3.0
84 kiE ZE—HR 1T 11 2 1 1.0
86 BED FR=ER 4 5 6 5 4 4.0
87 @A Z=FNif 7 3 5 8 7 80
128 AR E# 8 6 7 6 5 7.0
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i E Tango
9# #E— 3 8 2 4 8 50

43 INEFF O ERHX 8 7 5 8 7 8.0

53 Bkt A 5 2 3 2 2 20

66%% |EPS 4 4 6 3 4 4.0

84 kiE HE—ER 11 1 1 1 1.0

86 BJED FR=ER 6 6 7 6 5 6.0

87 @A Z=FNif 2 3 45 3 3.0

128 AR B4 75 8 7 6 7.0

& E Fox trot
9 &HF fE— 8 8 2 5 8 8.0

43 INEFF O ERHX 1 56 3 7 5.0

53 Eaft A 2 2 3 2 2 20

66 %5k r% 5 4 7 4 3 3.0

84 KiE —ER 71 1 1 1 1.0

86 frMA ?EEEB 4 7 8 7 5 1.0

87 H{ARK Z=F0if 3 6 4 8 4 4.0

128 AR B4 6 3 5 6 6 6.0
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9 &HF fE— 5.05.08.018.0 6.0

43 INEFF  EHX 6.08.05019.0 7.0

53 Eaft J{Z 2.02.02.0 6.0 2.0

66 L% EX 3.04.03.010.0 3.0

84 kiE HE—H} 1.01.01.0 3.0 1.0

86 (kO $R=EPR 406.07.017.0 5.0

87 KR Z=F0if 8.03.04.015.0 4.0

128 AR B4 7.0 7.0 6.0 20.0 8.0
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28 13002784 C A &C MHE EFF B H
3 0 13002606 C F&R 5A AT EFF B H
31 13000172 C #®JIl BE ik EBF B F
38 13001420 C #K FHAaeA BE FF B H
41 13000217 D U Hz 5 =F B F
4 3 13003795 C /NEFF EHK TR EF B &
53 13000822 D Eg#f H{= =% AlF B H
55 13003068 C #flL f#% IF ABF B H
6 2 13003683 C ¥y & AL FF B E
6 6 13000423 C %k Ex hA HF B H
6 7 13002804 C =& —ER AH XEF B F
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13003170 C fRA #H=ER K ®F B OB %5 40 6.0 7.0
13003342 C #AR =F0kk Rif #F B OB 44z 80 3.0 4.0
13001645 C W)l (58K Wil BxEF B A 1F:&
13000381 C #&JIl  FlkE BN &F B OB MBPE
13000378 D %% H ERR B B A 1 %53
13003640 C KN =ik SH UF BOED EERE
13003132 C A F—EF O AxF B OER #EREE
13003194 C X8 Mt KE X B OB RPE
13003373 C AR 4 UNTIE B OB %E8fx 7.0 7.0 6.0
13000983 E 18H =& Al BES B OB MRPE
13003356 C T HIA HH ImF R OE PR
13003752 C & f2— INE ETF B OB MRPE
13002166 C AXH wmAl Ik &F B OE PR
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